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Find the area enclosed by the ellipse with Find the area enclosed by the ellipse with
equation 27x> +12y* +108x —72y —108 =0. equation 27x> +12y* +108x — 72y —108 =0.
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Todd’s average score over the first three tests of
the semester was an 88. Once Todd took the
fourth test of the semester, his average across all
four tests was a 91. Find the score that Todd
made on the fourth test of the semester.

Answer :

Round 1 2 3 4 5
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If cosé :?7, where @ is an acute angle, find If cosé :?7, where @ is an acute angle, find
the value of tand. the value of tand.
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If f(x)=2x*—-1and g(x)=+x-3, find the
domain, written in interval notation, of the
composite function (fog)(x).
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Determine whether this statement is true or

false. (Please write either the full word “True” or
the full word “False” as your answer.)
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Let a, be the nth term in a sequence. If a, =1
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vertices are located at the points (2,—-4),

(-1,-3), and (-5,2) . Write your answer as a

fraction.
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